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EXERCISE 3.2 Do n book Copy 
A. Solve the following.

The entry ticket to the zoo costs 15. The entry ticket for a Colour 

it f you 

get all your 

Sums right. 

magic show costs 82. Which costs less the ticket to the zoo 
or the ticket for the magic show? How much less does it cost? 

cost of ticket for the magic show 

cost of ticket for the zoo 

67 
The ticket for the Z00 costs 64 less. 

Sid baked 12 cookies on Sunday and 14 cookies on Monday. 
How many mor� cookies did he bake on Monday? 

4 LCckies baked on Menday 
(CDkies haked n Sundauy 

Sid baked more cookies on Monday. 

In Ravi Uncle's shop, there are 36 red T-shirts and 29 purple T-shirts.

Which pplour T-shirts are more red or purple? How many more? 

Hed T- arts 
Pu 

RedL T-shirts are more than Punple- T-shirts.

There are 30 lilies in a flower vase. 24 lilies are white. 

How many lilies are not white? 

while ltes 

lilies are not white. (47 



66 babies were brought for polio drops to a hospital. 29 babies have 
been given the drops. Hovw many babies are yet to get the drops? 

bab es brsghd fon peuo drops 

?ven pe ie dtopS 
31 
3babies are yet to get the polio drops. 



HOTS questions 

Subtract across and down to find the magic number. 

( 

1 8 3 2 

41 7T 
2 

Subtract me from 8. You still have 8. Which number am 1?8- = 0) 
chek 
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